
 



Problem # 4 

 

% plot histogram of run times 
% for the following code, "gt" = ground truth, "rt" = run time 
edges=min(rt):5:max(rt); 
h1=histc(rt(find(gt==1)),edges); 
h2=histc(rt(find(gt==2)),edges); 
figure(1) 
bar(edges,h1,'b'),hold on, bar(edges,h2,'r') 
xlabel('run time (sec)') 
ylabel('count') 
title('Histogram of run time scores, males vs females') 
hold off 

  
thresh=600; % the threshold I chose for recognition. Males looked to be faster 
%               so their times would be lower 
index=find(rt(find(gt==1)) > 600);, male_errors = length(index) 
index=find(rt(find(gt==2)) <= 600); female_errors=length(index) 
 

 
 

 

 

 

 

 

 

 

 

450 500 550 600 650 700 750 800
0

1

2

3

4

5

6

7

8

run time (sec)

c
o
u
n
t

Histogram of run time scores, males vs females



 

 
Problem # 5 

% for the following code, "gt" = ground truth, "s" = situps, "p"=pushups 
figure(2) 
plot(s(find(gt==1)),p(find(gt==1)),'ro',s(find(gt==2)),p(find(gt==2)),'bx') 
xlabel('# situps'),ylabel('# pushups'),legend('males','females'), grid on 
title('Scatter Plot for EE435, PS02') 
hold on 

  
% now add the decision boundary to the plot 
f1=40:120; 
f2=-0.5*f1+130; 
plot(f1,f2,'k','linewidth',2) 
hold off 

  
% now apply decision rule using our situp and pushup data 
numerrors=0; 
for k=1:length(gt) 
    class=1; 
    test=p(k)+0.5*s(k)-140; 
    if test < 0 
        class=2; 
    end 
    if class ~= gt(k) 
        numerrors = numerrors+1; 
    end 
end 
disp(sprintf('Number of errors using situps/pushups = %d\n',numerrors)) 
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Scatter Plot for EE435, PS02

 

 

males

females

These point are

called "outliers",

which is bad data


